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The weights forja population of North American raccoons have a bell-shaped frequency curve
with a mean of about 12 pounds and a standard deviation of about 2.5 pounds based on sample
size of 68. Construct an 80% confidence interval and a 90% confidence interval. What do you
notice about the two intervals?
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7. Inasimple random sample of 144 households in a county in Virginia, the average number of
children in thesa households was 3.62 children. The standard deviation from this sample was
2.40 children. What is a 90% confidence interval for these results? What does it mean in the
context of the problem? .
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Suppose thatas

mple random sample of 100 men in Richmond were asked how much money

they spent per VJ,Sit at the barbershop. The responses resulted in a mean of $21.43 and a

standard deviati
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n of $7.84. Calculate a 95% confidence interval for these results.

& T Lak Skals

wo= NS
Se =, /Y
Nz oo
Clowvel . g5

(19. 83,92 9% )




9. Redo the proble
sample size of 1
from this?

Z-Int Slak
’}\ ¥ /;} /J Z/ 1)
h=loo
C’! . (L"v'b{? v .qq

(19411, 93 444)

10. Which distributi

m above but find a 99% confidence interval, and assume the data came from a
72 men. What do you notice about the two intervals? What can you conclude

=

I Ik Stk o oed o welse

= 2143 i Psnaiis
Sy = 7.%4 of orte C e
n=10o

Cn/b [LU‘OQ - ("fﬁ
(14,331, 23489

on did you choose for the example problems above? Why did you choose it?
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> confidence interval for a sample with a mean of 54 and a standard deviation of
sample size isn = 6 and n = 50. Calculate the interval in each case with a z-
ue. How do the results differ? What do you notice about the effect of the

how it affects the results?
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